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English and Topic activities

Retell our new story, ‘The Story of Pirate
Tom’. Add some expression and actions.
Then draw a story map to match.

The Story of Pirate Tom

Long, long ago, there was a pirate called Tom who lived on a great
big boat called ‘The Jolly Roger’. Unfortunately, Tom and the other
pirates were unhappy because they wanted some treasure. What
could they do? One rainy day, they sailed all the way to Rockabilly
Island.

They dug down deep but all that they found was a smelly sock and
a rotten old boot! The poor pirates cried and they cried and they
cried.

Later that night, the clouds were growing larger and larger and the
rain was pouring harder and harder. All night the waves smashed
against the great big boat. The poor pirates couldn’t sleep a wink.

Luckily, the next morning it was sunny so Pirate Tom went for a
swim. Deep down in the warm water, he saw something glittering
and gleaming. It was a box of treasure! They were the brightest
coins Tom had ever seen. ‘Yo, ho, ho, me hearties. I've found
treasure’, shouted Tom.

All day long the pirates searched the warm water. In the end, they
were so rich they never had to look for treasure again.







Can you sort the words from our new
story into the table?

| @cﬁves_ \ verbs
big ( dug

‘Remember a noun is a persoh, a place or a
thing. An adjective is a word that describes
a noun. A verb is a doing word.







How many of the words can you use in
your own sentences?

Remember capital letters, full stops and
finger spaces.







Look at the different pictures of pirates.

Use your ideas to write descriptive
sentences about a pirate. Include details
such as what the pirate looks like, says,
does, likes and dislikes.







Imagine you are a pirate. Describe what
you can see, hear, smell, feel and taste.







Research the famous explorer Captain
James Cook. Keep a note of all of the facts
and guestions you can find about him.






Make a detailed drawing of a ship typical
of Captain Cook’s. Label each part, such as
hold, keel, gallery, rudder, main deck,
quarter deck, poop deck, mast and sails.
I’ve included an example.







Design and make your own boat either for
an explorer like Captain Cook or for a
pirate!
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Find and make number bonds

o Complete the additions to match the

ten frames.

a)
0000e _
Ooeee + =
000e
O00e . _
XIrr -
000 e

b)
O
O * =

+ =

O

¢) What do you notice?






) Complete the number bonds.

a) 4 +6 = ¢ 10 = + 1
4 + 16 = 20 = + 1
b) 5+45= d)10=3 +
5+ 15 = 20 = + 13

o Complete the bar models.

a) c)
20 4

b) d)
20

20







o Colour all the number bonds to 20

14+3(17+3(2+18(0+20|3+16(9+ 1

17+3|/18+2(2+0

184+1(3+7 [(12+7|5+15|4+8 1+ 19

13+5(20+0/[1+ 15

11T+8(11+9(19+1(3+17|10+0[13+7

16 +2(8+12|54+5

546 (4+16(19+0|10+1|2+0 1|14 +6

17+1|11+9|11+8

124+5(12+8|18+2|15+5|4+ 15|16+ 410 + 10 15+5(13+3

Make your own puzzle like this.
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Add by making 10

o The ten frames show that 6 + 7 is the same
as 10 + 3

00000 0000
® 0000 0eee®

OO0 OO0

Draw counters to show that 5 + 6 is the same
as 10 + 1

&







§) Complete the additions.
Use ten frames to help you.

a) 8 +3 =10+

b) 9+7 =10+

¢) 7+5=10 +

d 6+8=10 +

&) Use number bonds to complete the additions.

The first one has been done for you.

10 + 5

15






10 + 3
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